DN Conisd
~ 26/03(pas

Exerice A l

@ Vi €W,

U @ (1x+2 % x-¥) (lx.-f}f?-;u?}zo
Q ['5’“'2] [3)&4'5}:0

<) S oas B AptiEe
& )(;-% O 3(,;.7!
23 AT
{1 5]
@ On Aok AW /K\z’“ .
pr: ‘{"'x— 3 ; 2((14&) >3
(2J 4 A AN > é N-2ic
%
G ﬁ(l{"'li - 3N0
A -du
- '.'1:}
= 94 4x! 3 (A AT
A=
7 $Hh o,
AN- dx



5 4
X |=¢ -? 2 + 02
V¢ §ac - D 4 "
N-dx t + O -
r I _ i : ~
A=y

. 1

@ V;(eml o0 ,0.(& X-= ).,1'
Aone (J/ =) Xq-. ilx_3:9,K>/o

g ]

ra b

¢ /,(_ -§
) L fo denk ot A outre :

a{(m (JI (sl X - l>/9 ar K:—iﬁ,'&l—

= 1: A
Gl 1':\)‘2—: o W 34\5—

j:{«\fz—, \rL}

/ -
cxoru ¥
Qon planrrona s mEMs  Uyz—=m
Emc O Moz L 2k 2 - 4 dme Al reva anetiakise




b nYoe J oS oy M, = 4 TR UN\LMM ).
w e x pta e
8 oL

—
=

d(wtnl1n dut?

nn.h‘ma )\-o ,u“h.’

Ma 2 .
MN:': — _kluM /}ou— /{c Morde Ve }V'JM L'}
AtUa e) L, 2
dn¥a
M S
_ Redhih, & e A
Qfdptat. i dntd
nta
= o8 AL U (e achesc
T 2wl
Exvriiw 3
@ =LAl 12'2 £t
3 £ -dacy
dore } (S-2a N}

@) -2 caca

(xb>x*) mor )-ep J & 'Z’gé:
-n€e
s 4La"l Y
olppe £[at+§ 4/15|




() 2 A.0n 29 5 4 69
“Alo e
AL LY AS L 3L ¢ )%
dme Al (35’6{, {29
(’ll——)\f)_() ///l/h/[a,*ot[ d 26 o
%-a 2o
293¢
dire J e (\llé—a ¢ Jis
1y ¢Jata ¢es
-2 a1
3 Lats L
(x> i) U Arw 391""["‘ P
® a+S Do
(>2

Exervw.
@ 2 (JH‘(‘J = Z i# an
=4 24 d71
" ___."("“]4 A5
B




(A""" (,ua’ (2 /l%';l -é_ /18/\

i
Y

(

!
xo

\
1
-2
>
x
o~
»
BN
1
LI
>
+
[V
N——

3; ,4,'1'- Z_

Azl =l
4

[
5 ita) o g (warra
=4 “

L=

b

A ((‘wl (ned) (2(re1] ) -4 -

(n+4) (3\‘2} ("1'“'3} - f_ B
b

3A
l




